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Which of the following refers to term non-volatile storage

208 TS B 26 e (Non - volatile storage) e DT ArDR0E?



Options :

Primary Memory

2308 (Primary) o000

1. %
Secondary Memory
2008 (Secondary) 20208

2.

Cache Memory

: 5252 (Cache) o008
Register
B2300 (Register)

4. %

Question Number : 2 Question Id : 5471145402 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is volatile semiconductor memory?

308 JBS° DB RS PAYOELE 20208?

Options :

ROM
EPROM

EAROM

RAM
4.

Question Number : 3 Question Id : 5471145403 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The horizontal ruler appears just beneath the Ribbon and is used to set
28 (2056° bepSH BHS &) FErosY Ereb BI @S JBE® soSErDS
EHRPATE?

Options :

vertical position of elements on the page

225" Avrosee GB0g) DD .g‘*zéo

l. %

margins and tab stops
S8R0 S8k ergES Froew
2" ®

Organize the table

::g;:sm stﬁro:ﬁmhé

Quick access of the data

Ger aing) 30y TS S6D

Question Number : 4 Question Id : 5471145404 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Where does the Insertion Point Move to when we press Ctrl + Page Up
200 Ctrl + Page Up S8 &2 to aS2ES Jranot J¢).¢3 debdood?

Options :

To the next browse object

SO0 FE DS

1. %

To the beginning of the document

D30 FrBozio HEKH

2. &



To the previous browse object

DOV TR BHSDH

To the end of the document

50 BB HELH

Question Number : 5 Question Id : 5471145405 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

To view a picture in a different color (including greyscale or black and white),

select the picture and then go to

& 308 T°865° B AotHS 08 DE'E Both &5° Deho D DTS e 9B
Options :

Format — Adjust — Colour

PO = AEH — Bob
o © e
1. il ot

Format — Arrange — Send Backward

@ﬁtﬁg&g — JBo& — Dob esggaﬁé

2. %
Format — Size — Crop
@ﬂd@ﬁ‘? — & = 6

3.

Format — Resize — Colour
TGS —> 6F — Kb
4. %

Question Number : 6 Question Id : 5471145406 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Section where text is entered.

85 DA BoBeG Dexrio

Options :
Title placeholder
888 'ﬁﬁ:ﬂ:ﬁ E&"E‘%E
1. %
Status bar
‘fegeaﬁ: b6
2. %
Document Area
Gﬂéagi:oef alaTerd
3.9
File Tab
26 erd
4. %

Question Number : 7 Question Id : 5471145407 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For proper use of formulas in Excel sheet all formulas must start with

Excel &6° Lrgrodn 2o &003rAotre0] @) AT Ejﬁ:}.:)*bﬁﬂ"

BIF Frdozdo (start) s2o°d

Options :
Equal
&S

1.

Plus
DR



Minus

5D
3. %

If

B
4. %

Question Number : 8 Question Id : 5471145408 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A variable is assigned a specific memory location using

208 DOaDee D e 2006 g“éc Sero0B i DS TES DA?

Options :
Pointer

Feanoed

Address of

(= (=
2. % SiEo B
Sizeof
E 6P
3. %
Enum
Es&
4. %

Question Number : 9 Question Id : 5471145409 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The size of the union corresponds to the length of the

OSPAODD CIE) RE BVS MENT &otod?

Options :



Smallest member

€9 zﬁé‘l 0836

1. %
Data type of a variable
D8adeed cﬁ:uézy cér 8o

2. %

Largest member
€930y Dosid

3. ¢ =
Size of the variable
D8a%ees H8AT0

4. %

Question Number : 10 Question Id : 5471145410 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Compiler also detects errors in source program. If compiling is successful the
source program is converted into

Sopeb ﬁeﬁb (B8res &° S'Drodd S 8008, %0p8oh DwaHHoSd 565:)

(&0 e QPGS0
Options :
Class program

g Jmro

Object program

wgs Do

2.



Source program

5.355:) @U“D
3. %
high level program
3 OS2 o
4. %

Question Number : 11 Question Id : 5471145411 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the output of the following program
08 T'ro ) ©HEHE D
#include <stdio.h>

int main()

{
mnta=12, b=25:
printf(**output = %d”. a/b):
return O:
h

Options :

2
0.48

3.9

Question Number : 12 Question Id : 5471145412 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What type conversion is performed automatically by the compiler without

programimer’s intervention?

a6 E'¢(0 G0t Son0b TPT° DLADOTOSOTT o SS20D AFP8\E
2 S 2 W > D

280000 H?
Options :

Explicit Conversion

DS 2ES SHED

Implicit conversion

R0 SHED

2. g
Dynamic conversion
GRS SABD

3. %

Static conversion

gvezg S8

Question Number : 13 Question Id : 5471145413 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following schemes, CPU execution waits while I'O proceeds.

& (Bob T0E° D D" 1/0 FaJ oo CPU JHEriad 3D cotwod.
Options :
Asynchronous /'O

oSS 1O

l. %



Synchronous I/'O

20(8%5% 1O

2.9
Serial /'O
58c%s IO
3. %
Parallel /O
2808 10

Question Number : 14 Question Id : 5471145414 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the order of computer memory. which of the following operates at the quickest
speed?
Soar§e6 20208 065", 308 TOES’ DB eod Driod HBABRCE?

Options :

Cache memory

R DInd
1. %
Register in CPU
CPU 8=a5%
2. 8
Main memory
Daws b
3. %
Disk cache
&%) =R
4. %

Question Number : 15 Question Id : 5471145415 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Cache loses its information when the power is off. This is because cache memory
1S

056 e3He5’ &) Do =& (cache) & DITT o) g 63&:10&;. Doc0E0E 55

(cache) D008
Options :

Dynamic in nature

Boirdes Sgrasn Sed

1. %

Static in nature

S0r8D) Dot 55@5533 =13]a)
2. %

Volatile in nature

Bd ééaﬁém Bobd
3¢

Non — volatile in nature

?geﬁ é&aﬁéaﬁw b
4. %

Question Number : 16 Question Id : 5471145416 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Your computer will check the following control files each time when you switch it

on.

G Bogrgtod (S 8D BRDIDYED. D S0 308 oS PSR HAIE

&Y B0,

Options :

Command.com, 10.8ys



Command.com. date.com. dir.com

2. %
Command.com., 10.sys, msdos.sys
3.¢
Chkdsk.exe
4. %

Question Number : 17 Question Id : 5471145417 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following permits us to address the same message to various
recipients?

238 20870 DG Bardes BDAHFAHETIS S08 TS & Do) By

29aDB0B0E?

Options :
Macros
ArED

1. %
Templates
S0t

2. %
Mail Merge
20008 A3

3.¢ =
Bookmark
an%&ﬂ:v&‘é

4. %

Question Number : 18 Question Id : 5471145418 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following file is executed to start MS word?
Bob RS, MS HBR (oo S 26?
Options :

Winword.exe

1.+

Word.exe
2. %

Msword.exe
3. %

Word356.exe
4. %

Question Number : 19 Question Id : 5471145419 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these Power point features would make it easier for anyone to make a

specific basic presentation more quickly?

8ot D6 Franots bR’ D JDHTT DGR FEDS DEGHHE B0 BB

SOIrE BADEE) eFSdE0 BIFe0w0?

Options :
Animations
. O3 RQDRD
Chart Wizard
o6 D76
ey =
2. %

Transition Wizard

S Db



AutoContent Wizard

=¢5°%085 Db
4. - &

Question Number : 20 Question Id : 5471145420 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following is a sound file type?

208 ToS" o0& S %0 DA?

Options :
DAT files
DAT g:_e‘ih
1. %
LOG files
LOG j;’.gé::,
2. %
DRV files
DRV ";‘.Ee‘f;}
3. 0%

WAV files

WAV 28)
4.

Question Number : 21 Question Id : 5471145421 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which power point mode 1s helpful for rearranging slides because it shows each
presentation slide as a thumbnail?

D8 DFo3ND VANED BoeddaeSTT SPHBED) 06D PAVELRD

:;J_)édsésﬁ?gs&oémbé D DH6 Fra0s] ATE DHFADDCEDR0E?

Options :



Slide Master

& a’mv@E
1. %
Slideshow
RE P
2. %
Slide sorter
286 53595
3. ¢

Notes Page

S5

Question Number : 22 Question Id : 5471145422 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Excel. the shortcut combination CTRL + D is used for

ExceleS”, 288580 S $wowg CTRL +D §'%0 &DairAosecadod.
Options :
Open font dialog box
£8 rotd Zern k)
1. %
Open format cells dialog box

825 P65 DE) B o)

Shift current cell’s value in the right cell

2§ 8008 1) Jeng al & B S

Fill down 1n the selection

26 TS ad & DoES

4. ¢



Question Number : 23 Question Id : 5471145423 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ASCII is a coding system that provides
ASCIL 938 ergoros odoed §¢oh D&
Options :
128 different characters

128 2)23&& (LAl

1.¢
256 different characters
256 &')e‘;}&’:gL e9 S TP

2. %
512 different characters
512 be:}a‘};l 95 T"eD

3. %

1024 different characters

1024 z)i)a‘)l e9 5T

4, %
Question Number : 24 Question Id : 5471145424 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What command would you use to duplicate the full disk?

8 AR H38 BaLerd3 D D BT GDATAFE?

Options :
Copy
L)
1. %
Diskcopy
&) 50

2.



Chkdsk
BE&E&

3. %

Format

3P Eﬁéés

4. %

Question Number : 25 Question Id : 5471145425 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Microsoft Word 1s
Microsoft Word esd&
Options :
Computer Hardware Program

SoXp(dd FEH6 D'rrad

Computer Non-application Program

S0P 6 T°R-9TAD Frew

Computer Application Program

S0 3D e

Computer System Program

SoRd DR J'Tred

Question Number : 26 Question Id : 5471145426 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ability to combine name and addresses with a standard document is called

SPATedS DAoS DK BAN DBTETOR SODL &mg‘%bﬂl 090ET°C)

Options :



Document formatting

TS D00E5 3"0“&&05

1. %
Database management
CATEIRD 5335&065

2. %

Mail merge
D000 D0

3. -
Form letters
Do) Seb

4. %

Question Number : 27 Question Id : 5471145427 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The designs in MS Power point presentations control the slide’s formatting and
arrangement. These go by following names:

MS 0056 0085 PFOLRDVSE™ EBSen VoE FT7, oA 8K vABE

DaHOGFOD. DO $08 DS 2RLICED

Options :
Blueprints
gaTay085e

1. %
Placeholders
Qhﬁgém



Templates

Boden
3.9
Design Plates
23S Hew
4. %

Question Number : 28 Question Id : 5471145428 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these describes the Power Point version that only shows text? (titles and
bullets)
DHS® IS B5 )30 HrSD DD DH6 aranotd DB DDER0H? (B&S) 06t

a08¢d))
Options :
Slide sorter show

ané g6 I

1. %
Slide view
Howé D

2.8
QOutline view
0SS D DEes

3.¢
Notes page view
36538 Dges

4. %

Question Number : 29 Question Id : 5471145429 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In a spread sheet, a column and row intersection is known as

D)E 2585, Ve DHEDY 2BAI 9Ed HERD EFEO 290EE0.
Options :
Box
B-Ii“g‘b
1. %
Cell
e
2.
Range
Go&
3. %
Page break
5.
4. % whgs

Question Number : 30 Question Id : 5471145430 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Object oriented programming is an approach that provides a way of modularizing
programs by creating partitions.

58S L00008E JTroh 9IS & 308 Iarared” B oY JTrovedd DFHwd

BOBDIN.
Options :

Memory area and Stack area

30d BT Db éé Afalever

1. %



Memory area and Queue area

Db DO HobAkn Erg DO

Memory area and Data area

Tawd DHBSsr BB TEErE DBAST
3. ¢

Queue area and Stack area

&g DB BB RE HBAE

4. %

Question Number : 31 Question Id : 5471145431 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In C++ the, main ( ) function by default returns a/ an to the operating system
C++¢". main ()H0ES °esoestresdd es0TE0H DRDOL D 208008
Options :

Character value

=olei=ta] E‘Swé
1. % o
Decimal value
IAtars 1] 3&}3§
2. %
Integer value
sodesb 3@5
3. ¢
String value
oﬁ 3@5
4. %

Question Number : 32 Question Id : 5471145432 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The type and scope of each static member variable must be defined outside the

definition

DS static 2ooedd DB a3os); type Swdasw scope &')d&zﬁéo

DDV Dé&zﬁo:ﬁmmﬁ)

Options :
Method
DBE

1. %
Class
R

2.9
Function
PHOEN

3. %
Object
)]

[=1.5]
4. %

Question Number : 33 Question Id : 5471145433 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A variable which is declared inside the class but outside the method. 1s called
2 Joahend 8 B D0, FE 0B ABSH0 BobeacdSod
Options :
Method variable
D& JFochHeans

Class variable

B Sochens



Instance variable

aﬁ‘;{goeﬁ feleveraio]
3. ¢

Global variable
Fjﬁa::ué 36a%z0eS

4, &%
Question Number : 34 Question Id : 5471145434 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the output of the following program

S08 JTro CBE), DL DE?

public class Programl {

static int factorial(int n){

if (n==1)
retumn 1;
else

return (n*factorial(n-1)):

1

b

public static void main(String args[]){

System.out.println("Factorial of 5 1s:"+ factorial(5)):

1
J
1
|

Options :

110



130

Question Number : 35 Question Id : 5471145435 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The core advantage of exception handling 1s
RS rofoR v B0aRD eI o

Options :

To handle the errors

S IT SaeadsBorscio

1. %
To maintain the normal flow of the application
@SN alwg) o §F DEErosedS

2.¥
To debug
Eofi oo

3. %

To execute the program
svd?ggaiuo(program) £95080 BoDETVS

4. %

Question Number : 36 Question Id : 5471145436 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process of visiting each and every node of a list in systematic manner is
b §é3‘£:u§e§66 DT A3 DS SEL Do oy PSOL_
Options :
Traversal

EFDES
1.v )



Searching

?06()05
2. %
Visiting
D&edoh
3. %
Sorting
.5‘3205
4. %

Question Number : 37 Question Id : 5471145437 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the best case analysis, we calculate on running time of an algorithm
208 BerES cng), BFES DFne EQof So w8 HedPraan
Options :

Upper bound

93:3;)5 o0&
1. %
Min-Max bound
£00-H660 ok
2. % i =
lower bound
5’96 eFol&
3.¢
Average bound
D5BE Fol
4. %

Question Number : 38 Question Id : 5471145438 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which data structure allows random access of data?

DU (FEHE Ser g iy FogS(random access) X 9&BS0E ?

Options :
Linked list
o5 0%

1. % W
Array
2B

2. ¢
Stack
8
(]

3. %
Queue
3

4. %

Question Number : 39 Question Id : 5471145439 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A list of numbers (in order) can be reversed by using
05 &b Soaf) (Eos®) BAD edarfotitio o(D° 858) Boby
Options :
Array and stack
O Hbako HE

1.

Array and queue

©B 850 By

Tree and stack

& So6aso HE



Tree and array

& 50605 &

Question Number : 40 Question Id : 5471145440 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An empty tree or sub-tree is specified using

dod & S 35 | & D eDAIrAd D) Do
Options :
Empty
dod
1. %
NULL
36
2.
0
3. %
@
4. %

Question Number : 41 Question Id : 5471145441 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An adjacency matrix 1s used to represent

EY ERBE BAJ ArDottrAS EDITrAosEIBI06?

Options :
nodes are adjacent to one another

- 3 Ey(Nodes) 2867588 D) S &otrow

edges are adjacent to each other

evochren(edges) 2SS P S Gobrow



collection of edges

evsocden (edges) Seows

array

2@

Question Number : 42 Question Id : 5471145442 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s used to insert page number and date at the bottom of each page in

word document

56 T Bvoed(word document) &S DO DB BDID DE 2o o8osn BED

ERodedd EDG3A0ILcIR0d

Options :

header

%‘gé (header)

1. %

footer

e (footer)
2.¢

View

Dgea(view)
3. %

print

Soogea(print)
4. %

Question Number : 43 Question Id : 5471145443 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



To adjust text around an image feature in word must be used.

Do Ot BHede) (text) DEheren SairerL0es, HESD SEC 2

BONIDOTT &Oa3rfomd
Options :

word wrap

386 ooh
1. % 5
text wrap
&85\ oo
e R
text align
8E) deans
3. % &
smart draw
F8 =
4. %

Question Number : 44 Question Id : 5471145444 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the infix expression?

308 TOS° DB 598 DE\HD?

Options :
A+B*C
1. ¢
+A*BC
2. %

ABCH*
3. %



A+BC+*

Question Number : 45 Question Id : 5471145445 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Functions in the C programming language are
C Frroh eriaed’ (Habairen (functions) DD
Options :
Internal

eﬂoégém

External
arm?gm.)
2.
Both internal and external

@o@ﬁ@fﬁ.ﬁn B0 zavET’gain Ooler

External and internal are not valid terms for functions

EEIRE SO0 e0SdBND, (HHATOD DeVEreD S

Question Number : 46 Question Id : 5471145446 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

function(s) dynamically gets a block of memory

GRS 2008 erED Fock (Hababho (function)
Options :

Calloc ()

Malloc ()



Both Calloc () and Malloc()
Calloc () s8asw Malloc()
3.9

free ()

Question Number : 47 Question Id : 5471145447 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is a variable usual C storage class?

S80S Frorde C T6E 0 908 D?

Options :
static
BE
0
1. %
Auto
ese5®
2.9
register
82358
3. % ™
Extern
;‘JE{JEE&
4. %

Question Number : 48 Question Id : 5471145448 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following data type cannot be used as controlling expression of a

switch statement?

(S D500 aIng), Datoges B38BT 30 i 65°) IO

€003 AotdSIEl D!

Options :



nt
char

short
3.

float
4. %

Question Number : 49 Question Id : 5471145449 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In C. a pointer variable to an integer can be created by the declaration
C eroHGHES® o8 s0desb F0ahend % ravotd O DDBore &86 3%5}5}3?
Options :

int p*:

mnt *p:
2.¥

int +p;

int $p:

Question Number : 50 Question Id : 5471145450 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following data type is provided by C++ but not in C?
308 &S’ & B%o CH oP(0° wodosecddod 5o C & 8i?

Options :

double
Lene



Float
5

Int
z085

Bool

4.9

Question Number : 51 Question Id : 5471145451 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not true about polymorphism?
FarBy20 (180D 30 TGS I Jao S°?
Options : |
Helps in redefining the same functionality

03 SToPfEIGEaR @éé‘lGSrﬁoédoﬁs 240D

Increases overhead of function definition always

D0EA BADD CﬁJJS?J 8356 IPEQ QQ:;)_‘):}CLP otdood
2.

It 1s feature of OOP
a& O0P cﬁnsgj e$50

3. %

Ease in readability of program

. T Sedod” Frozio

Question Number : 52 Question Id : 5471145452 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What happens when an object is passed by reference?
28 ©FE 0 WrSd oo TR BRI A 2EHH0E?
Options :
Destructor is called at end of the function

DOED 2hoins” BHES =06 edathEiod.

1. %
Destructor 1s called explicitly
&BEE6 25225 e S Yahathob.
2. %
Destructor 1s not called
&R56 =S Soses.
3.¢ =
Destructor is called when function is out of scope
POFH ©HE ¢f WD ©oHHED &@55 5o @HntEhob.
4. %

Question Number : 53 Question Id : 5471145453 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which feature of OOP reduces the use of nested classes?
OOP c3wg), d ogo IPE T DI SHR0E?
Options :
Inheritance
a%uﬁrﬁn"ng
1.v
Binding
Bodoh

2. %

Abstraction

oSErES



Encapsulation

aﬁswt’.g;:,éﬁﬁ

4. %

Question Number : 54 Question Id : 5471145454 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Single level inheritance supports inheritance.
ROAS SIS, aSroBY) EE) 230BY),.
Options :

Language independency
erond B8 OB

1. %
Multiple
aﬂ:@l’.g}e'):
2. %
Compile time
Sod 8o

3. %
Run time

v 58 8o

Question Number : 55 Question Id : 5471145455 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The appropriate term to use when declaring static variables is

2BE Jochand &35 THHpld eSBrAoD BBGS DSo

Options :
const
1. %
COomMmumon



static
3. %

stat

Question Number : 56 Question Id : 5471145456 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a Java feature?

8o EE® wear H36 =06 AB?

Options :
Portable
B05r T haS S 88 TohsE
1. %
Architecturally Neutral
VeprvieleTpy éééaé"gétﬁorw 60008
2. %
Use of pointers
onotady A aeiieoo
3. ¥
Object Oriented
©B§ £.8aHo8E
4. % e

Question Number : 57 Question Id : 5471145457 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these i1s a valid statement of a char?
DBES” D& char GBvg), Beeren eociy ESA0E5?
Options :

char ch = “\utea’;
1.



char ch = ‘tea’;

2. %
char cr ='W0223;
3. %
char cc = “\itea’:
4. %

Question Number : 58 Question Id : 5471145458 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is invalid to declare “for loop™?
06 Lrd' §0 208 T8eS” D pE6D (declaration) Bexcd?
Options :
for(int1=99:1>=0:1/9)

1.¥

for(inti=7;1<=77.1+=7)

2. %
for(int1=20:1>=2; -- 1)
3. %
for(int1=2:1<=20:1=2%)
4. %

Question Number : 59 Question Id : 5471145459 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which package contains the Random class?

D F(FES” Totdd TR &0d?
Options :

java.util package

java.util 28
1.¢



java.lang package

java.lang SES

2. &

java.awt package

java.awt eSS

3. %

java.io package

java.io o8&
4. %

Question Number : 60 Question Id : 5471145460 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a directed graph, an in-degree zero node 1s referred to as
D33S TS, ad-Af £8° FED T 2ardotdecadinod
Options :

Rooted vertex

&omeS 5?)5:)
1. %
Isolated vertex
DIVSEE EeSN
2. %
Source
&
3. ¢ o
Articulation point
RN O Droots
4. %

Question Number : 61 Question Id : 5471145461 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following data structures will be necessary to execute level order

traversal on a binary tree?

B8 8 SDS 35 ErOHGIS e B3 $08 G P8 G0 B

29550807
Options :
Hash table
352 632085

Queue

-

2.¥

Binary Search tree

836 26 &

3. %

Stack

=B
4.2 %

Question Number : 62 Question Id : 5471145462 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The time complexity of quick sort is

S6S gmmcgééea (quick sort) O30S DA “@oé‘{.&e‘_’s odooeh?
Options :

O(n)

O(logn)



O(n?)
3. ¢

O(n log n)

Question Number : 63 Question Id : 5471145463 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What will the following C code’s result be?

Eod [F(ran GoE) HOSo (result) n&?

#include < stdio.h=
int main()
s
i
it y = 10000;
int y = 34:
printf(*“Hello World! %d '\n™, y):
return 0:

1
J

Options :
Compile time error

2028 85 A6
1.v

Hello World! 34
Hello World! 10000

Hello World! Followed by a junk value
Hello World! &thare 2.8 a5@mrHNER ensd



Question Number : 64 Question Id : 5471145464 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which header file is necessary for using OOP in C++?

C++e&5° OOPR &D@BrAotdtrdS @ ar¢d 206 050807

Options :
OOP can be used without using any header file in C++

L C++&° OOP &8 dtnHod 88 S ©sddo B8t

stdlib.h

10stream.h

stdio.h

Question Number : 65 Question Id : 5471145465 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which feature of OOP is indicated by the following code?

OOP GBg). 236 308 §& (T Ardocsecreiuod?

class student { int marks:}:
class topper: public student { int age: topper(age) {this.age = age:}}:
Options :
Encapsulation and Inheritance

DTYBAS B8osn BSIPOBHY)
1.V

Inheritance and Polymorphism

B ar08K) b0 é“@é:ﬂﬁq}éﬁa

Polymorphism

3"&)3’)?6“]?653



Inheritance

=SO85

4. %

Question Number : 66 Question Id : 5471145466 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Abstraction meaning in Object Oriented Programming?

32835 L8030 Drrohes” 0d(FES 08 ©go?

Options :
Hiding the implementation and showing only the features

202 ToBAS orSto HBEm H3E I Sedosto
1.+

Hiding the important Data

NG TP O oo

2. %
Hiding the implementation
3 . SORDOBIS D wrsio
Showing the important data
Dengdd TP Q SrdodEo
4. %

Question Number : 67 Question Id : 5471145467 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following statements applies to the class described below?

B0 [PEeded® 3D 2R O D5BoSErDE DIIBreATE?

class student

{
int marks:
public: student () { }

student (int x)

{
marks = X:
h
1
main ()
d
student s1(100);

student s2 ():
student s3 = 100;

return 0:

}

Options :
Program will give compile time error
Sod, 8o B 5n0d

1. %

Object 83, syntax error

$3 3% ©H%08, Sthrs BSE) ABE B:k08.

Only object s1 and s2 will be created

s1. 52 eg%Hen BGbES wxhHzron



Program runs and all objects are created

B8 88 ©HEod, o) ogHen BGHeS wHErom
4.

Question Number : 68 Question Id : 5471145468 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are C++ friend member functions?
Bod 6% C++, D0k voab (Habaho (functions) &?
Options :
Non — member functions which have access to all the members of class
L Dot PoEN sPEFanae TR EnE) Dol IO S fovolatore)
Member function which doesn’t have access to private members

(B35 Doars o SrER B Hoah PoES

Member function which can modify any data of a class

TH @) endod Bér wonT HrSKON oadd POES

Member function which can access all the members of a class

R GE) o) oadl IO SoHKOA Dot HOEN

Question Number : 69 Question Id : 5471145469 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following type of class cannot have instances made?
208 Gsro srRweS” G8° esomren (instances) SofeiAn?

Options :

Parent class

20085 5°R
L%



Abstract class

o2\trE ST
- NEFE 3

Anonymous class

SEE

Nested class

NG =H
4. %

Question Number : 70 Question Id : 5471145470 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following option makes Java. as portable and secure?
208 Jongwes’ DB sy V'gees L0 WELSDDET BR008?
Options :
Byte code executed by JVM
TVM &eqoe 8¢5 §& evsven Sabio

The applet makes the Java code secure and portable

et e EED WG S0 o8akn 'GendT Bood

2. %
Use exception handling
JB® D arodS BobEo Aol
3. %
Dynamic binding between objects
oz§ Sod) GAS Hocioh
4. %

Question Number : 71 Question Id : 5471145471 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What will be the following program’s result?

Bod @Frran GwE) HOE0 A&?

public class Test

{

public class void main(String [] args)

{

int count = 1:
while(count <= 15)
{
System.out.println(count%?2 == 1? “#*%” : "444447 );
++count:;
} //fend while

+// end main

Options :
15 times **#®*

15 3‘1%&) FEEE

1. %

15 times +++++

15 e +H++
2. %

8 times *** and 7 times +++++

8 rgd *** HoBat 7 Gy HH+
3. ¢

Both *** and +++++ will print only once

ik 380800 +++++ GOy &565"!5 Aot dndodderdiaran



Question Number : 72 Question Id : 5471145472 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given, ArrayList list = new ArrayList():

What 1s the imitial quantity of the ArrayList list?

ArrayList list = new ArrayList():
[EDots & ArrayList @o¥) (@808 H0Erm0 Jos?

Options :

5
1. %

10
2.¢

0
3. %

100
4. %

Question Number : 73 Question Id : 5471145473 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which data structure from the list below must be used to translate an infix
arithmetic expression into its corresponding postfix notation?

A5~ ev0gtedch aﬁsémm oD 202008¢h DS DoFATD0eS S
) on U

29D IA0SDS BHIS DT Aod ) G K)U“(]}ea“.bg éfobi)‘rbarw &H3rAoed?
Options :

Queue

=

Linked list

D08 0%
2. % o



Binary search tree

856 2§ &

stack

nE
e
4.

Question Number : 74 Question Id : 5471145474 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s a component of database environment?
308 TS’ D& Ter BT AT Do adwg) io

Options :

people, software and data access language

Daew, F5 6 B0 G XSy e

1.¥ S
software
FHDE

[:5]

2. %

data access language

&t 088y eroRdE

people

0280

Question Number : 75 Question Id : 5471145475 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is performed at conceptual level in a database?

308 TS DB Ter BT aing) SRYPOHS BISE DrocseacA0d

Options :



data compression

Cie S0

l. %

optimization of internal structures

€908 0" Fe) 22 DTN

implementation of data structure

Cér .bméeao e930eD

describe what data 1s stored and their relationships

D & o Sabedod 8at 7 Doeotre DHBRS
4. ¢

Question Number : 76 Question Id : 5471145476 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is incorrect about DBMS?

DBMS 800 208 o7¢3e5° D6 S

Options :

Recovery and Backup 1s possible,

8856 BB erfEDd Jesgd
I %
Decision making process is enhanced and easy
Qgaso SRDLDD D0 DADDGSIGE0E BaiL Lwezso
2. %

Safe guarding Data Integrity is possible

AOESDOD S5 es B DBV FesRd



Data Exchange is limited.

A e :13“6:}&. D80

Question Number : 77 Question Id : 5471145477 Display Question Number : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

See the E-R Model given in figure.
In the ER Model shown, Which of the following cannot be represented by a

primary key
Deboes” S E-R 207eteS edrcdoct

e ER aorete5es”, 06 oredeS” D& primary key TP(O° APDOLsRIED

ADDRESS @ @

STUDENT COURSE

: ok : /
Y +
QF%‘

LECTURER SUBJECTS

SUBJECT_NAME
(LECTURER 1D @ COURSE_ID

Options :

STUDENT ID

LECTURER ID



SUBJECT NAME
3.¥

COURSE ID

Question Number : 78 Question Id : 5471145478 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

See the E-R Model given in figure.
In the ER Model shown, Which of the following is a derived attribute

DBods” gD\ E-R Dorcies dhrtod

2% ER ree5eS’, 308 T76° D& esehy ) o (derived) o geso

STUDENT COURSE

A
Teaches @f@
C

LECTURER SUBJECTS
LECTURER 1D @ COURSE_ID
Options :
Age
1.¥
HOBBY



HAS

DOOR#

Question Number : 79 Question Id : 5471145479 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given Relation (A. B. C. D) and FD={ A->B.B->C.C->A}. Find the candidate
keys.
FIND Sowogsn (A, B, C. D) so8asn FD={ A->B.B->C.C->A}. 8088 S o0&

g0f doc.

Options :

AB.C
1. %
DA.DB.DC
2.
DAB.DAC.DBC
3. %
DABC
4. %

Question Number : 80 Question Id : 5471145480 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is used to remove all records from a table?

28 (Table)dood ) 85tGrw0 BRDADEIS S0b T8 B

[=reTlebblalelnlATab Ty belm)
Options :

Alter



Drop

2. ®

Truncate
3.«

Update
4. %

Question Number : 81 Question Id : 5471145481 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rollback is a task that comes under

SESHE 9D BAS Doeroboodd

Options :

TCL
1.v
DCL
2. %
DML
3. %
DDL
4. %

Question Number : 82 Question Id : 5471145482 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not true

208 7635 DA Do P

Options :



In generalization, an entity of a higher level can combine with entities of

lower level to form a further higher level entity

e 6e3sdeed’ (zeneralization). a8 ed) & gﬂcm Do entity) Eefrad eg“cm

Do (entity) ©F BB LoBoss ed) & Q“cm Jodded(entity) D DB ER0E.

Generalization is represented by IS A

rroedsseageneralization) IS A SN Aorotsecaeioodd

2. &

In generalization two or more entities of lower level combine to form a higher

level entity if they have some attributes in common

o se3ssea( generalization) €3° &esd Q“cm% B0AD Boc ST e90e95063
NEURS Joded(entity) en &) A §) wseroid A &) bowd, ed WS
e g“cm Joded(entity) D DB 0.

Generalization uses top down approach

F SRS (generalization) érH-E°R Sjcfmbl &DAITA0H
4.

Question Number : 83 Question Id : 5471145483 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is true about Department and Employee entities in this
diagram

82 Bardhoes” darEa00e5 Ho8akn doararr Jodd L Doeodod S0d THS” D

Koaogo aﬁ’.g_)D

has S
Department oy Employee
works in

Options :
Many to many relationship

D o DY Homodio

1. %
One to many relationship
es en d Jomodo

2.

One to one relationship
2R & 2.8 Nowodo

3. %

Close relationship
8% Somogo
4. %

Question Number : 84 Question Id : 5471145484 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is incorrect about normalization

THBBES £ 20220800 308 THS” IO Sy

Options :



The normal form is used to improve efficiency using redundancy

Baoéb:](redundancy) D eddrfod) %ﬂmg"?sbl DEADDEIDS

a“i%@éﬁg EHA3rAoere0d

1.
Normalization divides large tables into smaller tables and links them using
relationships
TEBEGS DG DHSOD WD) DS DFR0H SBOKD DoerorrO
&003H0w) e Hos B30d
2. %
Normalization 1s used to organize the data in the database
GrerdS & Eerdd DBEToerdS THBERS eDBrAoecOB08
3. %
Normalization can prevent data integrity problems
@6@;@_3&5 G DaIeh ‘é)&‘x)"d)g&)é} DT°8022008
4. %

Question Number : 85 Question Id : 5471145485 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following eliminates Partial Functional Dependency

308 TBS" DB &S DogDS EdoayD(Partial Functional Dependency)

So0od
Options :

INF
1. ¢

2NF



2

ANF

Question Number : 86 Question Id : 5471145486 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given a relation R( A. B. C. D) and Functional Dependency set

FD={ AB — CD. B — C }. Its 2NF form will be
2doaogo R(A, B, C, D) o8ai DogdeS &boﬁbb(functional dependency) 2¢5

FD={ AB— CD, B — C }. &3 2NF &r0

Options :

R1(A.C). R2(B.D)

1. %

R1(B.C). R2(A.B.D)
2.

R1(A.D).R2(B.C.D)
3. %

R1(A.B).R2(A.B.D)
4. %

Question Number : 87 Question Id : 5471145487 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following 1s not a Database server

208 TS’ B TEPBER K8 PG
Options :
MSSQL server
MSSQL {586

1. %



MySQL Server

MySQL ?6655
2. %
DB2 Server
DB2 ;::’655
3. %

MyOracle Server

MyOracle 3856

Question Number : 88 Question Id : 5471145488 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What operation is performed by JOB statement in mainframe?
DS B Serd RAER00ES o 2 280D 288008
Options :
Job Identification

e HROBHEAS

1.
Execution of program
@8 DSBS
2. %
Includes name of the dataset to operate
30085 RS Géroes(dataset) 2o £98 eotnod
3. %
Job description
d SRYNN
4. %

Question Number : 89 Question Id : 5471145489 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A database administrator is not required to perform which of the following tasks?

308 ToBS” D DA VBEFoSTEIS TErES HDEJ D 9580 B
Options :
Database performance funing

CETEIR DB e Do BoDS

Perform backup and recovery to preserve data

G BEDESTIS 2.3"5553 So8osn 85580 Ddsijﬂoéc;"bé

Implement database security

CeTrE3 ZEARD evsien BoEEOS

Solve data ownership problems

Ger aﬁyamé5 "ﬂam"foge_}m aa%aonﬁmﬂ}é

4.9

Question Number : 90 Question Id : 5471145490 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Why is concurrency control used in DBMS?
DBMSe5° 50589 dodoghes (concurrency control) ot edarAotdercrecinod?

Options :
To ensure data integrity when updates occur to the database in a multiuser

environment

Hoahrel Trorddes’ Tirdt LD DG R0BDoDIDN D Ger

DK o80Tt dS
1. v =



To ensure data integrity when updates occur to the database in a single-user

environment

20AS b STt mrerEn D dDSEeen(updates) SDHDN o Eer

RS c?.)g“ﬁod)c:"ﬂé

To ensure data integrity while reading data occurs to the database in a

multiuser environment

) dral TErsEed GErsRoh Geridy SADIDNED EE DAISR

bgﬁaoﬁmﬁ)é

To ensure data integrity while reading data occurs to the database in a single-

user environment

ROAS s SrErdceos” TrErES S EEPR) BADLIYE EEr DIHSG

Sg&oﬁmi}é

Question Number : 91 Question Id : 5471145491 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following database design features is most important to SQL

performance?

SQL 5889 Doerodod) 308 database EBS 360S" D& Trer AP[DOVE?
Options :
Removing redundancy

Béoaﬁ}n} &R0t
1.¥

adding User interface

GSresb moerb D Danerd



Working from command line
B5r0EB8 $od HQ Tasnerd
3. %
Using sqlplus commands

sglplus 50080 &X@rActhesH

Question Number : 92 Question Id : 5471145492 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Consider the table student

Select the Right statement to insert values to the Student table.

bmégij &3e065 HBHeotod

D8 HHYL Db SLVT=AS HFH (BHES D dowS'od:

Stuid Name Branch | Result

1028 Ramesh CRE Awaited

1029 Venkatesh | EEE Passed

1030 Mahi EEE Passed
1031 Satish ECE Awaited
1032 Tarun CSE Awaited

1033 Harish NULL | Passed

Options :

INSERT Student VALUES (

INSERT VALUES (



INSERT INTO Student VALUES (

3.9

INSERT VALUES INTO Student

Question Number : 93 Question Id : 5471145493 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Consider the table student

What is the output of following query SELECT COUNT(Branch) FROM Student
D8 EeeS 0828ocsod

3):::“5% e3ee5 advoc SELECT COUNT(Branch) 0% ad0g), 959855385 Doeh

Stund Name Branch | Result

1028 Ramesh CSE Awaited

1029 Venkatesh | EEE Passed

1030 Mahi EEE Passed
1031 Satish ECE Awaited
1032 Tarun CSE Awaited

1033 Harish NULL | Passed

Options :

5
1.+

,
2. %

6



Question Number : 94 Question Id : 5471145494 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ramu works as a database designer in a company called CET Technologies. To

create a table named ITEM., he uses the following query.

o CET 85°) 080 093 $0008" mrtrdt AR36T DAS0a™) ¢ ITEM 2t
DAL 0TS, s $08 HF) M EDAFAI .

CREATE ITEM (

ITEM ID CHAR (10) NOT NULL,
ORDER ID CHAR (10) NULL

ITEM NAME VARCHAR(10) NOT NULL,
Primary key (ORDER 1D, ITEM _1ID))

Identify the errors in the above query?
D 23S Sy DE?
Options :
An attribute declared as a primary key cannot contain NULL values.

(256 & mr HEosdd w0 $S Dendedd SO eotichd

1.
Each attribute should be defined as a primary key separately.
DO L) (R0 & m DA VBDosd

2. %

A table cannot have two primary keys.

DOSS" Boto (306 § e sotdreics



ITEM NAME is declared without specifying the width.
ITEM_NAME Q) & 8) 05900 p880dec.od

Question Number : 95 Question Id : 5471145495 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A foreign key is
85 & 058
Options :

a way of implementing referential integrity

G3ae daud (referential integrity) evdven 3 d°go

1. ¢
not related to primary key
(2508 & & 20200808 st
2. %
used to implement transitive dependency
g:):}ef},& éboﬁi’)b{transitive dependency) O e9sen BSoHTEI3
DA
3. % =
ties attributes in an entity with each other
258 288 2088 &° e (attributes) D Senipeiood
4. %

Question Number : 96 Question Id : 5471145496 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a transitive dependency?
Bob TRS® (rQBS Eoal)y 2B?

Options :



A functional dependency between two or more Key attributes

ot T wossoll DD § JGarse) Docs| DoLIS ADoEDy

1. %
A functional dependency between two or more non-key attributes
otk S 905083 D) O -8 JBarge]) e DoLDHS ARy
2.
A relation that 1s in first normal form
85050 0D 2w TS 5 S°eotod
3. %
A relation that 1s in second normal form
B850 928 Bodisd aﬂééé @’55{% S eotod
4. %

Question Number : 97 Question Id : 5471145497 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is primary key?

308 oS g § DA?

Options :
Any attribute

BT D\ Beweges

An attribute uniquely identifies each row

e DO e B DB HERS
2.9

An attribute uniquely identifies each column

ABarS DO Dend) DD D[S0 HEVE



A derived attribute

888 Bewrges

4. &

Question Number : 98 Question Id : 5471145498 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Relations are:

B5HeD 9D
Options :

2 — dimensional tables

2 Q&J;ﬂ?b&? ::neéée.u
1.«
3 — dimensional tables
3- GDJS DHEEew
2. % < IS
4 — dimensional tables
4 - GA0DDS DHEYSen
3. % i 2
Onmne — dimensional table
= QE}JQ:{NS QQSw
4. %

Question Number : 99 Question Id : 5471145499 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is referred to as a group of entities of the same sort that

have similar characteristics?

308 &S’ FErDy LEmTOW DA &) 23 DEDD BET ddurroT

Aroiencod?

Options :



Relation set

BN e
1. %

Tuples

Are) (5]
2. % D%

Entity set

DoBé 2265
3.

Entity — Relation model
\ 0BG - 8BNS Arees
LR

Question Number : 100 Question Id : 5471145500 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

can help us to detect poor E — R design

Poor E — R d80&0 #h8ocseioes” IfFADESA0H

Options :

Database design process

GersSd drdsend pdab

1. %
E — R design process
E-R &8 D30

2. %
Relational schema
85395 E:,E,ma

3. %

Functional dependencies

Dog.HeS ciboc?.,bbij



